MANUIN

Source Code VadlysunsunldmnsinuITy

1. A1Y
Source Code Userformi.frm

Private Sub CommandButton]_Click{)

UserForml.hide

Load select_span

select_span.Show

Erd Sub

Private Sub CommandButton2_Click()

‘UserForm] hide

Load spanl

spani.Show

Call span_i

End Sub

Private Sub OptionButton]_Click(}

UserFormi.Spreadsheet} Worksheets(" 1 -span”).Celis(1, 1) =
"Fixed"

Ead Sub

Private Sub OpticnButten2_Click()
UserForm1.Spreadsheetl. Worksheets("1-span”).Cells(1, 1) =
"Hinge"

End Sub

Source Code spani.fim

Private Sub ComboBox1_Change()
Call span

End Sub

Private Sub CommandButtonl_Click()

‘Create Variable

Bal = (spani.Spreadsheet]. Worksheets(*sheet1").Celis(3, 2))
/100
Ha! = (spanl.Spreadsheet] Worksheets{"sheet1"}.Cells(4, 2))
/100
Bb1 = {spant.Spreadsheet] Worksheets("sheet] ") Cells(3, 5))
{100
Hb1 = (spanl.Spreadsheetl. Worksheets("sheet1"}.Cells(4, 51
/100

Private Sub OptionButton3_Click()

UserForm1.Spreadsheeti, Worksheets("1 -span”).Cells(l, 1) =
“Free"

End Sub

Private Sub OptionBuiton4_Click()

UserForm1 8preadsheet] Worksheets(" 1 -span”).Cells(1, 5) =
"Fixed"

End Sub

Private Sub OptionButton$_Click()
UserForml.Spreadsheet]. Worksheets("1-span").Cells(i, 5) =
"Hinge"

End Sub

Private Sub OptionButton6_Click()

UserForm] Spreadsheetd, Worksheets("1-span).Cells(l, 5) =
“Free

End Sub

Private Sub UserForm_Click(}

End Sub |

Bol = (spanl.Spreadsheet], Worksheets("sheet1").Cells(3, 8))
{100

Hel = (spanl Spreadsheet]. Worksheets{"sheet1"}.Cells(4, 8))
F100

cal = (span!.Spreadsheetl Worksheets("sheet1").Cells(6, 2)}/
100

cbl =(spanl.Spreadsheetl. Worksheets("sheet1").Cells(§, 5)) /
100

cel = (spartl.Spreadsheett. Worksheets("sheet1").Cells(6, £)) /
100

Spal = (spanl.Spreadsheetl. Worksheets("sheetl"}:.Cells(53,
217100

Spbl = (spani.Spreadsheetl. Worksheets("sheet1™). Cells(53,
/100



Spel = (spanl.Spreadsheet!. Worksheets(" sheet]1").Cells(53,
8)} /100

Lspanl = {spant.Spreadsheetl. Worksheets("sheet1").Cells(5,
2))

pal = (spani.Spreadsheet!. Worksheets("sheet1").Cells(25, 2))
pa2 = (spanl.Spreadsheetl. Worksheets("sheett").Cells{24, 2))
pad = (spanl.Spreadsheet]. Worksheets{"sheet17}.Cells(23, 2)}
pad = (spant.Spreadshectl . Worksheets("sheet]").Cells(20, 2))
pas = {span].Spreadsheet]. Worksheets("sheet1").Celis(21, 2})
pab = (spanl.Spreadsheet]l Worksheets("sheet1}.Cells(22, 2))
pbl ={(spanl.Spreadshesti. Worksheets("sheet1").Cells{25,

5

pb2 = (spanl.Spreadsheet]. Worksheets("sheet1").Cells(24,
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pb3 = (spanl.Spreadsheet]. Worksheets("sheet1").Cells{23,

5)

ph4 = (span!.Spreadsheetl, Worksheets("sheet1").Cells(20,
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pb5 = (spanl Spreadsheet], Worksheets("sheet1"}.Cells(21,

)

pbé = (span!.Spreadsheet ! Worksheets("sheetl").Celis(22,

)

pel = (spanl.Spreadsheeti. Worksheets("sheet1").Cells(25, 8))
pc2 = (spanl.Spreadshect], Worksheets("sheet1").Cells(24, 8))
ped = (spanl.Spreadsheet] Worksheets{"sheet17}.Cells(23, 8)}
ped = (spanl.Spreadsheetl. Worksheets("sheet1").Cells(20, 8))
pcs = (spani.Spreadsheet] Worksheets("sheet!").Cells(21, 8))
pob = {spanl.Spreadshect]. Worksheets{"sheet1"}.Cells(22, 8))
‘Section A-A

Dim i(l To 18) As Double

'Bottom Low Bar

Foril =1 To pal

[f pal = 1 Then

Call AddSteel{(Hal / 2} + Bal /2, cal + 0.01)

Else

dxi=(Bal-cal *2-0.02 *pal}/(pal - I}

Call AddSteel((Hal /2) +{cal + (2 *i1-1)* 001+ ({1 -1 ¥
dx1), cal +0.01)

End If

Nextil

'‘Bottom Middie Bar

Fori2=1To pa2

Ifpa2 =1 Then
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Call AddSteci({Hal /2) + Bal /2,¢cal +0.01 +0.025+{2 *
0.01)

Else

dx2 =(Bal -cal ¥2-0.02 * pa2}/(pa2- 1)

Call AddStecl(Hal /2)+(cal + 2 *2-1}* 001 +(2- 1) *
dx2), cal +0.01 +0.025+(2 * 0.01))

End If

Next i2

'Bottom Top Bar

Forid=1To pa3

Hpai=1 Then

Call AddSteei((Hal /2) + Bal /2, cal +0.025+(2 *0.01) +
{2 *0.01) +0.025 +0.0D)

Else

dx3 = (Bal - cal *2-0.02 % pa3)/ (pa3 - 1}

Call AddSteei((Hal /2)} +(cal +2*i3- 1) * 001+ (B3 -1 *
dx3), cal + 0,025+ (2 * 0.01) +(2 * 0.01) + 0.025 + 0.01}
End If

Next i3

"Fop Top Bar

Forid =1 To pat

[f pa4 = 1 Then

Call AddSteel((Hal /2) + Bal / 2, Hal - (cal + .01}

Else

dxd =(Bal - cal *2-(0.01*2) *pad) / (pad - 1)

Call AddSteel((Hal /2) + (cal +(2*i4-1) * 0,01+ (i4- 1} *
dx4), Hat - (cal +0.01))

End If

Next i4

Top Middle Bar

Fori5=1Topas

If pa5 =1 Then

Call AddSteel{(Hal /2)+ Bal /2, Hal - {cal +0.01 + 0.025
+{2*0.01))

Else

dx5 = (Bal - cal *2-(0.01 *2) * pa2) / (pa5 - 1}

Call AddSteel((Hal / 2) + {cal + (2 *i5- 1) 5001 +(i5-D *
dx5), Hat - {cal + 001 + 0.025 + (2 * 0.0E))

End If

Next i5

‘Top Low Bar

For 16 = 1 To pat

Ifpa6 =1 Then



Call AddSteel{(Hal /2) + Bal /2, Hal - (cal +0.025+{2*
G.01) + (2 * 0.01)} + 0,025 + 0.01))

Else

dx6 =(Bal -cal *2 - (0.01 *2) * pa6} / (pa6 - 1)

Call AddSteel((Hal /2)+{cal + (2 *i6-1) 0.0 + (6 -1} *
dx6}, Hal - (cal +0.025+ (2 *0.01}+ (2 *0.01) +0.025 +
0.01)

End If

Next i6

‘Section B-B

‘Bottem Low Bar

Fori7=1 To pbl

ifpbl =1 Then

Catt AddSteel({Hal /2) + Lspani / 2, cbl + Q.01)

Else

dx7=(Bbl -cbl *2-0.02 * pbl)/(pbl - 1}

Call AddSteel((Hal /2) + Lepanl /2 - (Bbl / 2} + (cbl + (2 *
i7- 1) % 0.01 +{7 - 1) * dx7), cbl + 0.01)

End If

Nexti7

‘Bottom Middle Bar

Fori§ =1 To pb2

Ifpb2 =1 Then

Call AddSteel{{11al /2) + Lspani {2, ¢bl +0.01 + G.025 + (2
*0.01))

Else

dx8 = (Bb1 - cbl * 2-0.02 * ph2) / (pb2 - 1)

Call AddSteel{(FIaf / 2} + Lspant (2 -(Bbi /2) + {cbl + (2 ¢
B-1)*0.01+(i8-1)* dxB), cbl +0.01 +0025+(2 %
0.01n

End If

Next 18

'Bottem Top Bar

Fori®=1Topb3

I pb3 = Then

Calt AddSteel((Hal /2) + Lspanl /2, chb! + 0.0} +0.025+(2
*0.01) +0.025 + (2 ¥ 0.01))

Else

dx9={Bbl -cbi *2-0.02 *pb3)/(pb3- 1)

Call AddSteei((Hal /2) + Lspanl /2 - (Bb1 /2) +{cb1 +(2 *
i9-1)*0.01 +{i9- 1) * dx9), cbl +0.01 +0.025+ (2 * 0.01)
+0.025+(2* 0010

End Hf
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Next i9

Top Top Bar

Forit0=1 Topb4

[f pb4 =1 Then

Call AddSteel({Hal 7 2) + Lspanl / 2, Hb1 - (cbl + 0.01})
Else

dx10=(Bb! - cb? *2-0.02 * pbd) / (pb4 - 1)

Call AddSteel{(Hal /2) + Lspanl /2 -(Bb1 / 2} +{cbl + (2 %
it0- 1) * 0.01 +{i10 - 1) * dx1Q}, HbI - {cbl +0.01))

End If

Next 10

"Top Middle Bar

Foritl =1 To pbs

HpbS=1Then

Call AddSteel({Iial / 2) + Lspani /2, Hbl - {cbl + 0.01 +
0.025+(2 * 0.01))

Else

dx11={Bbl - cbl *2-0.02 * pb5) /{pb5 - 1}

Call Ad¢Steel({Hal /2) + Lspant /2 -(Bbl /2) + (cbi + {2 *
P11 -1y *0.01 + (111 - 1) * dxl1), Hbl - (cbl +0.01 +0.025
+(2 * 0.0

End If

Nextiil

"Top Low Bar

Foril2=1To pht

If pb6 =1 Then

Calt AddSteel({Hal / 2) + Lspan! /2, Hol - {cbl +0.01 +
0.025+{2 *0.01) + 0.025 + (2 * .01

Else

dx12 =(Bbl - chl * 2 -0.02 * pb6) / (pb6 - 1)

Call AddSteel({Hal / 2} + Lspani /2 - (Bbl / 2} +{(cbl + (2 *
i12-1}%0.01 + (112 - ) * dx12), Hb! - {cbl +0.01 +0.025
+{2*0.01) +0.025 + (2 * 0.01)})

End If

Next 12

‘Section C-C

‘Bottom Low Bar

Foril3={ Topel

[fpel = | Then

Call AddSteel{(Hal /2) + Lspanl - B¢i /2, ccl +0.01)
Else

dx13 ={Bcl -ccl ¥2-0.02 * pel)/{pcl - 1)



Call AddSteel({Hal /2) + Lspant - Bel + (cel + (2 *i13- 1)
*0.01 +(i13- 1) * dx13), ccl + 0.0

End If

Nextil3

‘Bottom Middle Bar

Foril4é =1 Topc2

if pc2 =1 Then

Calf AddSteel({(Hal /2} + Lspanl - Be1/72,ec1 +0.01 +
0.025+(2 * G.01))

Else

dx14=(Bcl -ccl *2-0.02 *pc2) /{pc2 - 1)

Call AddSteel{(Hat /2) + Lspani - Bol + (cel + 2 *il4- 1)
*0.01+(i14 - 1) * dx14), ccl +0.01 + 0025+ (2% 0.01))
End If

Nextit4

‘Bottom Top Bar

Foril5=1 Topc3

Hpcd=1 Then

Call AddSteel{{Hal / 2) + Lspanl - Bei /2, ccl +0.01 +
0.025+(2*0.001) +0.625+(2* 0,01}

Else

dx15=1{Bel - ccl *2-0.02 *pc3) /{pc3 - 1)

Call AddSteel{(Hai / 2) + Lspani - Bcl + (ccl +(2 *il5- 1)
Q.01+ 615 - 1) * dx15), cel +0.01 +0.025 +(2 #0.01) +
0.025 + (2 * 0.013}

End If

Nextils

Forilé = 1 To pcd

If pc4 =1 Then

Call AddSteel({Hal / 2} + Lspanl - Bel /2, Hel - {cel +
.01

Else

dx16 ={Bel -cci *2-0.02 * pcd) /(ped - 1)

Call AddSteel{{Hal / 2} + Lspanl -~ Bel +{ecl +{2 *i16- 1}
® .01 +(i16 - 1) * dx16), Hel - {cel +0.01)

End If

Next it§

Foril7=1Topcs

Ifpc5=1 Then

Call AddSteel({Hal /2) + Lspanl - Bel /2, Hel - {ccl +0.01
+0.025+ (2 *0.01))

Else
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dxi7=(Bel-ccl *2-0.02 % pe5) /{peS - 1)
Call AddSteel{{Hai /2) + Lspan! - Bel +{cci + (2 * {17 - 1}
*0.01 + (17~ 1) * dx17), Hel = (ccl +0.01 +0.025+(2 *
0.012)

End If

Next i17

Forilg=1 Topct

If pe6 =1 Then

Call AddSteel((Hal /2) + Lspan! - Bel /2, Hel - {cel +0.01
+0.025+(2 % 0.01) +0.025+ (2 *0.01)))

Else

dx18 = (Bel - cel ¥ 2-0.02 * pcb) / (pe6 - 1)

Call AddSteel({Hal /2) + Lspant - Bel +{cel +Q2 % il8-1)
*0.01 +(il8 - 1) * dx18), Hel - (ecl +0.01 + 0025+ (2 %
0.01) +0.025+ 2 * 0010

End If

Nextii8

Call Beam]

Call texttopl

Call textbottom1

Call textsecl

Calt peerl

Call dimt1Al

Call dimt1B1

Call dimt1C1

Call AddSecAA1(Bal, Hal)

Call PeerAA1(Bal, Hal, cal}

Call AddSecBB1(Hal, Bbl, Hbl, Lspanl)

Call PeerBB1(Hal, Bbl, Hbl, cbl, Lspanl)

Call AddSecCC1(Hal, Bel, Hel, Lspanl)

Catl PeerCC1{Hal, Bel, Hel, cel, Lspanl)

End

End Sub

Private Sub CommandButton?_Click()

spani.hide

Load UserForml

'UserFormi.Show

End Sub

Private Sub UserForm_Click()

'Call item

End Sub



Source_Code Add_Section Spani.frm

Sub AddSecAAl{Bal, Hal}

Dim myDoc As IntelliCAD. Document

DHim myPline As Polyline

Dim myPoints As Points

Dim pt As Point

Set myDoc = ActiveDocument

Set myPoints = Library.CreatePoints

Set pt = Library.CreatePoint{Hal / 2, 0, 0}
myPoints. Add

myPoints(myPoints.Count).x = pt.x
myPoints(myPoints.Count).y = pt.y
myPoints(myPoints.Count}.z = pt.z

Set pt = Library.CreatePoint(Hal / 2 + Bal, 0, 0}
myPoints Add

myPoints(myPoints.Count).x = pt.x
myPoints(myPoints.Count).y = pt.y
myPeints(myPoints Count).z = pt.z

Set pt = Library.CreatePoint{Hal / 2 + Bal, Hal, 0)
myPoints. Add

myPoints(myPoints.Count).x = pt.x
myPoints(myPoints.Count).y = pt.y
myPoints(myPoints Count).z = pt.z

Set pt = Library CreatePoint(Hal / 2, Hal, 0}
myPoints. Add

myPoints(myPoints.Count}).x = pt.x
myPoints(myPoints.Count).y = pt.y
myPoints{myPoints.Count).z = pt.z

Set pt = Library.CreatePoint(Hal / 2,0, ()
myPoints.Add

myPoints(myPoints.Count).x = pt.x
myPoints{myPoints.Count).y = pt.y
myPoints{myPoints.Count).z = pt.z

Set myPline =
ThisDocument. ModelSpace. AddPolyline(myPoints)
myPline. Update

ThisDocument. ActiveViewport. ZoomExtents
End Sub

Sub PeerAAH{Bal, Hal, cal)

Dim myDoc As InteliCAD . Document

Dim myPlire As Polyline

Dim myPoints As Points

Dim pt As Point

Set myDoc = ActiveDocument

Set myPoinis = Library.CreatePoints

Set pt = Library.CreatePoint{{Hal / 2) + cal, cal, 0}
myPoints, Add

myPoints{myPoints.Count).x = pt.x
myPoints{myPoinis.Count).y = pt.y

myPoints(myPoints.Count).z = pt.z

Set pt = Library.CreatePoint({Ha3 / 2) - cal + Bal, cal, Q)

myPoints. Add
myPoints{myPoints.Count}.x = pt.x
myPoints(myPoints.Count).y = pt.y

myPoints{myPoints.Count).z = pt.z
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Set pt = Library CreatePoint({Hal / 2) - cal + Bal, Hal - cal,

0)

myPoints. Add
myPoints(myPoints.Count).x = pt.x
myPoints{myPoints.Count).y = pt.y

myPoints{myPoints.Count}.z = pt.z

Set pt = Library.CreatcPoint{Hal / 2 + cal, Hal -cal, 0)

myPoints. Add

myPoints{myPoints. Count).x = pt.x
myPoints(myPoints.Count).y = pt.y
myPoints{myPoints.Count).z = pt.z

Set pt = Library.CreatePoint(Hal / 2 + ¢al, cal, 0)
myPoints. Add

myPoints(myPoints.Count).x = pt.x
myPoints{myPoints.Count).y = pt.y
myPoints(myPoints.Count).z = pt.z

Set myPline =

ThisDocument.ModelSpace. AddPolyline{myPoints)
myPline. Update
ThisDocument. Active Viewport. ZoomExtents

End Sub

Sub AddSecBBI1(Hal, Bbl, Hbl, Lspanl)

Dim myDoc As intelliCAD.Document

Dim myPline As Polyline

Dim myPoints As Points

Dim pt As Point

Set myDoc = ActiveDocument

Set myPoints = Library.CreatePoints

Set pt = Library CreatePoint({Hal / 2) + (Lspanl / 2} - (Bl /

2}, 0,0



myPoints. Add

myPoints(myPoints.Count).x = pt.x
myPoints(myPoints.Count).y = pt.y
myPoints{myPeints.Count).z = pt.z

Set pt = Library.CreatePoint{{Hal / 2) + Bbl + (Lspanl /2) -
(Bb1/2),0,0)

myPeints.Add

myPoints(myPeints,Count).x = pt.x
myPoints{myPoinis.Countl.y = pt.y
myPoints(myPoints.Count).z = pt.z

Set pt = Library.CreatePoint((Hal / 2) + Bbl + (Lspanl / 2) -
{Bbl/2}, Hbi, 0)

myPoinis. Add

myPoints(myPoints Count).x = pt.x
myPoints(myPoints.Count).y = pt.y
myPoints(myPoints.Count).z = pt.z

Set pt = Library.CreatePoint({Hal / 2) + (Lspanl / 2) - (Bbl/
2), Hbl, 0}

myPoints. Add

myPoints(myPoints.Count).x = pt.x
myPoints{myPoints.Count).y = pt.y
myPoints(myPoints.Count).z = pt.z

Set pt = Library.CreatePoint{(Hal / 2} + (Lspanl / 2) - (Bb1 /
2),0,0

myPoints. Add

myPoints(myPoints.Count).x = pt.x
myPoints(myPoints.Count).y = pt.y
myPoints{myPoints.Count).z = pt.z

Set myPline =
ThisDocwment ModelSpace. AddPolyline(myPoints}
myPine Update

ThisDocument. ActiveViewport. ZoomExtents

End Sub

Sub Pee:BB1(Hal, Bbi, Hbl, ¢bl, Lspanl)

Dim myDoc As IntelliCAD. Document

Dim myPline As Polyline

Dim myPoints As Points

Dim pt As Point

Set myboc = ActiveDocument

Set myPoints = Library CreatePoints

Set pt = Library.CreatePoint({Hal / 2) + c¢bl + (Lspanl / 2) -
{Bb1/2}, cbl,0)

myPoints. Add
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myPoints(myPoints.Count).x = pt.x

myPoinss{myPoints. Count}.y = pt.y
myPoints(myPoints.Count).z = pt.z

Set pt = Library.CreatePoint({Hal / 2) - ¢bl + BbI + (Lspanl
{2)-(Bbl/2)},cbl, 0}

myPoints. Add

myPoints(myPoints.Count).x = pt.x
myPoints{myPoints.Count).y = pt.y
myPoints{myPoints.Count}.z = pt.z

Set pt = Library CreatePoint{(Hal / 2} - ¢b] + Bb! + (Lspani
/2} - (Bb1/2), Hbl - cbl, 0)

myPoints. Add

myPoints{myPoints.Count}.x = pt.x
myPoints(myPoints.Countl.y = pt.y
myPoints(myPoints.Count).z = pt.z

Set pt = Library.CreatePoint{(ial / 2) + cbl + {Lspani /2) -
(Bbl /2), Hbl -cbi, M

myPoints. Add

myPoints(myPoints.Count).x = pt.x
myPoints{myPoints.Count).y = pt.y
myPoints(myPoints.Count).z = pt.z

Set pt = Library.CreatePoint((Hal / 2) + cb] + (Lspani / 2) -
(Bb1/2),cbl, 0}

myPoints. Add

myPoints(myPoints.Count).x = pt.x

myPoints(imyPoints. Count).y = pt.y
myPoints(myPoints.Count).z = pt.z

Set myPline =
ThisDocument ModelSpace. AddPolyline{myPoints)
myPline.Update

ThisDocument. ActiveViewport. ZoomExtents

End Sub

Sub AddSecCC1(Hal, Bel, Hel, Lspani)

Dim myDoc As InteliCAD. Document

Dim myPline As Polyline

Dim myPoints As Points

Dim pt As Point

Set myDoc = ActiveDocurnent

Set myPoints = Library.CreatePoints

Set pt = Library CreatePoint({Fal / 2) + (Lspanl) - Bel, 0, 0)
myPoints. Add

myPoints{myPoints.Count).x = pt.x

myPoints(myPoints. Count).y = pt.y



myPoints(myPoints.Count).z = ptz

Set pt = Library.CreatePoint((Hal / 2} + (Lspant), 0, 0)
myPoints.Add

myPoints(myPoinis.Counf).x = pt.x
myPoints(myPoints.Count).y = pt.y
myPoints{myPoints.Count) .z = pt.z

Set pt = Library.CreatePoint((Hal / 2) + {Lspani}, Hel, )
myPoints.Add

myPoints(myPoints.Count).x = pt.x
myPoints(myPoints.Count).y = pt.y
myPoints(myPoints.Count}.z = pt.z

Set pt = Library.CreatePoint{(FHal 7 2) + (Lspanl) - Bel, Hel,
o

myPoints.Add

myPoints(myPoints Count).x = pt.x
myPoints{ryPoints.Count).y = pt.y
myPoints(myPoints.Count).z = pt.z

Set pt = Library.CreatePoint({Hal / 2} + (Lspanl) - Bcl, 0, 0}
myPoints.Add

myPomts{myPoints.Count).x = pt.x
myPoints(myPoints.Count).y = pt.y
myPoints(myPoints.Couat).z = pt.z

Set myPline =
ThisDocument. ModelSpace. AddPolyline(myPoints)
myPline. Update
ThisDocument. Active Viewport. ZoomExtents

End Sub

Sub PeerCC1{Hal, Bel, Hel, ecl, Lspant)

Bim myDoc As IntelliCAD. Document

Dim myPline As Polyline

Dim myPoints As Points

Dir pt As Point

Set myDoc = ActiveDocument

Set myPoints = Library CreatePoints
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Set pt = Library.CreatePoint{(Hal / 2) + cci + Lspani - Bel,
cel, O}

myPoints. Add

myPoints{myPoints.Count}.x = pt.x
myPoints(myPoints.Count).y = pt.y
myPoints(myPoints.Count).z = pt.z

Set pt = Library.CreatePoint((Hal / 2} - ccl + Lspanl, cel, 0}
myPoinis. Add

myPoints{myPoints.Count).x = pt.x
myPoints(myPoints.Count).y = pt.y
myPoints{myPoints.Count).z = pt.z

Set pt = Library.CreatePoint{(Hal / 2) - ccl + Lspani, Hel -
ccl, 0}

myPoints. Add

myPoints{myPoints.Count}.x = pt.x
myPoints(myPoings,Count).y = pt.y
myPoints(myPoints.Count).z = pt.z

Set pt = Library.CreatePoint{{Ha! / 2) + cci + Lspanl - Bel,
Het - cel, 0)

myPoints. Add

myPoints(myPoints. Count).x = pt.x
myPoints{myPoints.Count).y = pt.y
myPoints(myPoints.Count) z = pt.z

Set pt = Library.CreatePoint({Hal / 2) + ccl + Lspanl - Bel,
ccl, B

myPoints. Add

myPoints(myPoints.Count).x = pi.x

myPoints(myPoints. Counth.y = pt.y
myPoints{myPoints.Count).z = pt.z

Set myPline =
ThisDecument. ModelSpace. AddPolyline(myPoints)
myPline. Update
ThisDocument. Active Viewport, ZoomExtents

End Sub



A

Source Code Columa,

Dim B As Double

Dim D As String

Dim P As String

Dim Ps As String

Pim 81 As Integer

Dim 52 As Integer

Dim S3 As Integer

Dim 84 As Integer

Dim S5 As Integer

Dim Sr As String

Dim P2 As Integer

Private Sub Opl_Click()

Sl=2

52=0

§3=2

84=0

Sn=4

F2=0

Column.Spreadsheetl . Worksheets("sheet1").Cells{14, 2} =4
Column.Spreadsheet] . Worksheets{"sheet1™).Cells(5, 8) = 2
Cotumn.Spreadsheet], Worksheets("sheet1").Ceils(6, 8) =2
Column.Spreadsheet ] Worksheets("sheett™).Cells(7, 8} =4
Column.Spreadsheet]. Worksheets{"sheet1"}.Cells(8, 8) = 4
End Sub

Private Sub Op2_Click()

Si=3

S2=0

S3=3

S4=0

Sn=¢

P2=40

Column.Spreadsheet]. Worksheets{"sheet1"}.Cells(14, 2) = 6
Colamn. Spreadsheetf . Worksheets("sheet1").Cells(3, 8) = 3
Column.Spreadsheet]l . Worksheets("sheett").Cells(6, 8) =2
Column.Spreadsheet]. Worksheets("sheet1"}.Cells(7, 8) = 6
Column.Spreadsheet 1. Waorksheets("sheet1™).Cells(8, 8} = 4
End Sub

Private Sub Op3_Click(}

8i=2

S2=2
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S3=2

S4=0

Sn=6

P2=0
Column.Spreadsheet] . Worksheets{"sheet1").Cells(14, 2) = 6
Column. Spreadsheetl. Worksheets("sheet1").Celis(5, 8) =2
Column.Spreadsheet]. Worksheets("sheet1") Cells(6, 8} =3
Column.Spreadsheet] . Worksheets("sheet1").Cells(7, 8) = 4
Column.Spreadsheet . Worksheets("sheet]").Celis(8, 8) =6
End Sub

Private Sub Op4_Click(}

S1=3

52=2

S3=3

S4=0

Sn=§

P2=1
Column.Spreadsheet] . Worksheets("sheet]*).Celis(14,2) =8
Column Spreadsheet]. Worksheets("sheet1").Cells(5, 8) = 3
Column.Spreadsheetl.Workshcets(“sheetl").Cekls(ﬁ, 8 =3
Column.Spreadsheett. Worksheets("sheet}").Cells(7, 8} = 6
Column.Spreadsheet] . Wosksheets("sheet]"}1.Cells(8, 8) = &
End Sub

Private Sub Op3_Click()

Sl=4

S2=0

S3=4

S4=0

Sn=38

P2=2

Column.Spreadsheet! . Worksheets("sheet1").Cetls(14, 2) = 8
Column Spreadsheett, Worksheets("sheet 1).Cells(5, 8) = 4
Column.Spreadsheet 1. Worksheets("sheet] ").Cells(6, 8) = 4
Columnn.Spreadsheet], Worksheets{"sheet1").Celis(7, 8) = 8
Column Spreadsheet ! Worksheets("sheet1").Cells(8, 8) =8
End Sub

Private Sub Op6_Click(}

Si=2

82=90

S3=2



$4=2

§5=0

Sn=8

P2=3

Column.Spreadsheet] Worksheets("sheet] ").Cels(14, 2) = §
Column. Spreadsheet] . Worksheets("sheet1").Cells(§, 8} = 4
Column.Spreadsheet]. Worksheets{"sheet1"}.Cells(6, 8) = 4
Column,Spreadsheett. Worksheets("sheet1*).Cells(7,8) = 8
Column.Spreadsheet] . Worksheets("sheet1").Cells{8, 8) =8
End Sub

Private Sub Op7_Click{}

Sl=2

S2=0

§3=2

S4=2

§5=2

Sn=1i2

P2=4
Column.Spreadsheet] . Worksheets("sheet1"}.Cells(14, 2) = 12
Column.Spreadsheet!. Worksheets(“sheet] ").Cells(5, 8) = 4
Column. Spreadshect]. Worksheets("sheet1).Cells{6, 8) = 4
Column.Spreadsheetl . Worksheets{"sheet1").Cells(7, 8) = 12
Column.Spreadsheet] . Worksheets("shect]*}.Cells(g, 8) = 12
End Sub

Private Sub Op8_Click()

Si=3

§2=2

§3=3

§4=2

S5=2

Sa=16

P2=35

Column, Spreadsheet] . Worksheets{"sheet1"}.Cells(14, 2) =16
Columr:. Spreadsheett. Worksheets("sheet1™).Cells(5, 8) =5
Column.Spreadsheet] . Worksheets("sheet1").Celis(6, 8) = 5
Column.Spreadsheet] Workshects{"sheet1").Cells(7, 8) = 14
Column.Spreadsheet] . Worksheets("sheet1%).Cells(8, 8) = 14
End Sub

Private Sub CommandButtonl_Click(}

If {Column.Spreadsheet1. Worksheets{"sheet1"}.Cells(12, 20
="fay" Then

Sp="RB"

Else
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Sp=" DB"

End if

If (Column.Spreadsheet]. Worksheets("sheetl").Celis{2, 2)) =
"SR24" Then

D1 ="RB"

Else

Dl="DB"

End If

tx = Colurnn.Spreadsheet], Worksheets("sheet 17).Cells(1, 2}
B = Columpn.Spreadsheet]. Worksheets("sheet] ").Cells(4, 2)
DD = Column.Spreadsheet . Worksheets("sheet1").Cells(19,
2)

DD2 = Column. Spreadsheet], Worksheets{"sheet").Cells(L 1,
2}

¢ = Colurnn.Spreadsheet] . Warksheets("sheetl ). Cells(s, 2)

'‘Colum
Call AddCoumn(B)

If P2 =1 Then

Call AddPColumn2(B, c)
End If

If P2 =2 Then

Call AddPColumn3(B, c)
End If

[£P2 =3 Then

Call AddPColurrm4(B, ¢}
End If

If P2 =4 Then

Call AddPColumn3{B, c}
Call AddPColumn4(B, c)
End If

IfP2 =35 Then

Call AddPColumn2(B, ¢)
Call AddPColumn3(B, c)
Call AddPColumn4(B, c)
End If

'steel

Feri=1TeSl1

de=(B-c*2-002*81}/(81-1}

Call AddSteellc+ (2 *i- D *001+ (G- 1) *dx, B-c-0.01)
Next i

Fori=1ToS2

gx={B-¢*2-0.02%82)/(52- 1}

Call AddSteel{(c+(2*1-1)*001+(-1)*dx, B/2)



Next i

Fori=1To 33

dx=(B-c*2-002%83)/(83-1)

Call AddSteellc+ (2 *i-1)* 001 +(i- 1) * dx, c+0.01)
Next i

Fori=1ToS4

dx=(B-c*2-002%S84)/(84-1)

Call AddSteellc+ (2 *i-1)* 001+ (- ) *dx, B/3+0.01)
Call AddSteet(c+ 2 *i-1)* 001 +({-1)*dx, 2*B/3)-
0.01)

Nexti

Fori=1To 85

dx={(B-c*2-0.02*35)/(85-1}

Call AddSteelB/3+0.0L, c+(2%i-D*001+({-1)*
dx)}

Call AddSteel{(2 *B/3)-00%,c+2*i-1)*001+(G-1)
* dx)

Source Code Add_Steeibas

Sub AddSteel(x0, vO)

Dim icadDoc As InteliiCAD.Document
Dim icadCircle As InteliCAD Circle
Dim cenPt As IntelliCAD Point

Set icadDoc = ActiveDocument

Source Code Add_PColumnl bas
Sub AddPColumnl(B, c}

Dim myDoc As IntelliCAD. Document
Dim myPline As Polyline

D¥im myPoints As Points

Dim pt As Point

Set myDoc = ActiveDocument

Set myPoints = Library.CreatePoints
Set pt = Library.CreatePoint(c, ¢, 0)
myPoints.Add
myPoints{myPoints.Count).x = pt.x
myPoints{myPoints.Count).y = pt.y
myPoints{myPuoints.Count).z = pt.2
Set pt = Library.CreatePoint(B - ¢, ¢, 0}
myPeints. Add
myPoints(myPoints.Count).x = pt.x
myPoints(myPeints. Count).y = pt.y

myPoints(myPoints.Count).z = pt.z
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Nexti

‘ETC.
Call Example_AddText_un3(B, tx)

Call AddPColumni(B, ¢

Call Example_AddText_unl{Sn, DD1, B, D1}
Call Example_AddText_ua2(Sp, B, DD2)
Call Example_AddDimup(B, H)

Call Example_AddPimside(B, H)

End

End Sub

Private Sub CommandBution2 Click()
Colums.hide

Load Sciect_Structure

Select_Structure.Show

End Sub

Set cenPt = Library.CreatePoint{x0, y()

Set jcadCircle = icadDoc. ModelSpace. AddCircle(cenPt, 0.01)
icadCircle.Update

ThisDocument.ActiveViewport. ZoomExtents

End Sub

Set pt = Library CreatePoint(B - ¢, B-¢, 0}
myPoints. Add

myPoints{myPoints. Count).x = pt.x
myPoints(myPoints.CovntLy = pt.y
myPoints(myPoints.Count).z = pt.z

Set pt = Library.CreatePoint(c, B - ¢, 0)
myPoints. Add
myPoints(myPoints.Count).x = pt.x
myPoints(myPoints.Count).y = pt.y
myPoints{myPoinis.Count).z =pt.z

Set pt = Library.CreatePaint{c, ¢, 0)
myPoints.Add
myPoints{myPoints.Count).x = pt.x
myPoints(myPoints Count).y = pt.y
myPoints(myPoints.Count).z = pt.z

Set myPline =

ThisDocument. ModelSpace. AdéPolyline(myPoints)



myPline. Update

ThisDocument. ActiveViewport.ZoomExtents

Source_Code Add_PColumn? bag

Sub AddPColumn2(B, ¢}

Dim myDoc As InteliCAD, Document
Dim myPline As Polyline

Dim myPoinis As Points

Dyim pt As Point

Set myDoc = ActiveDocument

Set myPoints = Library.CreatePoints
Set pt = Library CreatePoint{B / 2, ¢, 0}
myPoints. Add
myPoints(myPoints.Count).x = pt.x
myPoints(myPoints.County.y = pt.y
myPoints(myPoints.Coung).z = pt.z

Set pt = Library.CreatePoint(c, B / 2, 0)
myPoints. Add
myPoiats{myPoints.Count}.x = pt.x
myPoints{myPoints.Count).y = pt.y
myPoints{zyPoints.Count).z = pt.z

Set pt = Library CreatePoint(B /2, B - ¢, 0}
myPoints.Add

Souwrce Code Add_PColumn3 bas

Sub AddPColumn3(B, ¢)

Dim myBoc As InteliCATD.Document
Dim myPline As Polyline

Dim myPoints As Points

D¥im pt As Point

Set myDoc = ActiveDocument

Set myPoints = Library.CreatePoints
Set pt = Library.CreatePoint(B / 3, ¢, 0)
myPoints.Add
myPoints{myPeints.Count}.x = pt.x
myPoints(myPoints.Count).y = pt.y
myPoints{myPoints.Count).z = pt.z

Set pt = Library.CreatePoint{B / 3, B - ¢, 0)
myPoints. Add
myPoints(enyPoints.Count) x = pt.x
myPoints(myPoints.Count).y = pt.y
myPoints(myPoints.Count).z = pt.z

Set pt = Library.CreatePoint(Z * B /3, B - ¢, 0)

End Sub

myPoints{myPoints.Count).x = pt.x
myPoints(myPoints.Count).y = pt.y
myPoints(myPoints.Count).z = pt.z

Set pt = Library.CreatePoint(B - ¢, B/ 2, 0}
myPoints. Add

myPoints(myPoints.Count).x = pt.x
myPoints{myPoints.Count).y = pt.y
myPoints(myPoints.Count).z = pt.z

Set pt = Library.CreatePoint(B / 2, ¢, ()
myPoints. Add

myPoints(myPoints.Count).x = pt.x
myPoints{myPeints.Count}.y = pt.y
myPoints{myPoints.Count).z = pt.z

Set myPline =
ThisDocument. ModelSpace. AddPolyline(myP oints)
myPiine. Update

ThisDocument. ActiveViewport. ZoomExtents

End Sub

myPoints. Add
myPoints(myPoints.Count).x = pt.x
myPoinis{myPoints.Count).y = pt.y
myPoints(myPoints.Count).z = pt.z

Set pt = Library.CreatePoint(Z * B /3, ¢, 0)
myPoints. Add
myPoints(myPoints.Count).x = pt.x
myPoints(myPoints.Count).y = pt.y
myPoints{myPoints.Count).z = pt.z

Set pt = Library.CreatePoint(B / 3, ¢, )
myPoints. Add

myPoints@myPoints.Count).x = pt.x
myPoints(myPoints. Count).y = pt.y
myPoints{myPoints.Count).z = pt.z

Set myPline =

ThisDocument ModelSpace. AddPolyline(myPoints)
myPline Update
ThisDocument. Active Viewport. ZoomExtents

Eng Sub
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Source Code Add_PColummnd. bas

Sub AddPColumn4{B, c}

Dim myDoc As InteliCAD . Document
Dim myPline As Polyline

Dim myPoints As Points

Dim pt As Point

Set myDoc = ActiveDocument

Set myPoints = Library CreatePoints

Set pt = Library.CreatePoint(c, B / 3, 0)
myPoints. Add
myPoints(myPoints.Count).x = ptx
myPoints(myPoints. Count}.y = pt.y
myPoints{myPoints.Count).z = pt.z

Set pt = Library.CreatePoint(c, 2 * B/ 3, 0}
myPoints.Add
myPoints(myPoints.Count}.x = pt.x
myPoints(myPoints.Count).y = pt.y
myPoints{myPoints.Count).z = pt.z

Set pt = Library.CreatePoint(B -c, 2 * B/ 3, 0)

myPoints. Add

Source Code Text Column.bas

Sub Example_AddText_unl(Sn, DDL, B, D1, H)
Bim icadDoc As IntelliCAD.Document

Dim myText As String

Dim miextObj As IntelliCAD. Text

Dim insPt As IntelliCAD.Point

Dvim height As Double

Set icadDoc = ActiveDocument

Set insPt = Library.CreatePoint(B + 0.1, 2 * H/ 3)
height = 0.04

myText=S8Sn& Di &""&DD1 & " +"

Set mtextObj = icadbDoc. ModelSpace. AddText{myText, insPt,
height}

mitextOby. Update
ThisDocument. Active Viewport. ZoomCenter insPt, 20
End Sub

Sub Example_AddText un2(Sp, B, DD2, H}

Dim icadDoc As inteHiCAD Document

Dim myText As String

Dim mtexiObi As IntelliCAD. Text

Dim insPt As intetECAD.Point

Dim height As Double
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myPoinis{myPoints.Count}.x = pt.x
myPoints(myPoints.Count).y = pt.y
myPeints(myPoints Count).z = pt.z

Set pt = Library.CreatePoint(B - ¢, B/ 3, 0)
myPoints. Add

myPoints(myPoints.Coung).x = pt.x
myPoints{myFoints. Count).y = pt.y
myPoints(myPeints.Count).z = pt.z

Set pt = Library CreatePoint(c, B/ 3, 0)
myPoints. Add

myPoints(myPoints.Count).x = pt.x
myPoints(myPoints.Count).y = pt.y
myPoints(myPoints.Count}.z = pt.z

Set myPline =
ThisDocument.ModelSpace.AddPolyline(myPoinis)
myPline. Update

ThisDocument. ActiveViewport.ZoomExtents

End Sub

Set icadDoc = ActiveDocument

Set insPt = Library.CreatePoint(B + 0.1, H/ 3)

height = 0.04

myText="Stir " & Sp&""&DD2&"@ " &
{Column.Spreadsheet. Worksheets("sheet1").Cells(54, 2} /
160) & " m™

Set mtextObj = icadDoc. ModelSpace. AddText(myText, insPt,
height}

mitextObj. Update
ThisDogument. Active Viewport. ZoomCenter insPt, 20

End Sub

Sub Example_Add¥ext und(B, tx)

Dim icadDoc As InteBiCAD.Document

Dim myText As String

Dim miextObj As IntelliCAD. Text

Dim insPt As IntelliCAD.Point

Dim height As Double

Set icadDoc = ActiveDocument

Set insPt = Library.CreatePoint({B / 2) - 0.05, -C.1)

height = 0.04

myText =tx



Set mtextChj = icadDoc.ModelSpace. AddText(myText, insPt,
height}
mtextObi.Update

Source Code dimup.bas

Sub Example_AddDimup(B, H)

Dim icadDoc As IntelliCAD. Document

Dim myText As String

Dim mtextObj As IntelliCAD. Text

Dim insPt As IntelliCAD Point

Dim height As Double

Set icadDoc = ActiveDocument

Set insPt = Library.CreatePoint(B /2 - 0.04, B +0.16)
height =004

myFext=B & " m."

Set mtextObj = icadDoc.ModelSpace.AddText(myText, insPt,
height)

miextObi.Update

ThisDocument.ActiveViewport. ZoomCenter insPt, 20

Dim myDoc As InteliCAD . Document
Dim myPline As Polyline

Dim myPoints As Points

Dim ot As Point

Set myBoc = ActiveDocument

Set myPoints = Library CreatePoints

Set pt = Library CreatePoint{0, B + 0.08)
myPoints. Add
myPoints{myPoints.Count).x = pt.x
myPoints{myPoints.Count}.y = pt.y
myPoints(myPoints.Count).z = pt.z

Set pt = Library.CreatePoint(0, B + 0.12)
myPoints. Add

Source Code dimside.bas

Sub Example AddDimside{B, H)

Dim icadDoc As IntelliCAD . Document
Dim myyText As String

Dim mtextObj As InteliCAD Text
Dim insPt As IntetiCAD .Point

Dim height As Double

Set icadDoc = ActiveDocument

Set insPt = Library.CreatePoint(-0.3, B/ 2)
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ThisDocument. ActiveViewport. ZoomCenter insPt, 20
End Sub

myPoints{imyPoints.Count).x = pt.x
myPoints(myPoints.Count}.y = pt.y
myPoints(myPoints.Count).z = pt.z

Set pt = Library CreatePoint{0, B + 0.1)
myPoints. Add
myPoints{myPoints.Count}.x = pt.x
myPoints(myPoints.Count).y = pt.y
myPoints{myPoinis.Count).z = pt.z

Set pt = Library CreatePoint(B, B +0.1)
myPoints. Add

myPoints(myPoints. Count}.x = pt.x
myPoints{myPoints.Count).y = pt.y
myPoints(myPoints.Count).z = pt.z

Set pt = Library.CreatePoint(B, B +0.12)
myPoints. Add

myPoints{myPoints. Count).x = pt.x
myFoints(myPoints.Count).y = pt.y
myPoints{myPoints.Count).z = pt.z

Set pt = Library CreatePoini(B, B + (.08}
myPoints.Add
myPoints{myPoints.Count).x = pt.x
myPoints{myPoints.Count}l.y = pt.y
myPoints(myPoings.Count).z = pt.z

Set myPline =
ThisDocument.ModeiSpace. AddPolyline{myPoints)
myPline.Update
ThisPocument. Active Viewport. ZoomExtents

End Sub

height = 0.04

myText=H&" m."

Set miextObi = icadDoc.ModelSpace. AddText{myText, insPt,
height)

mtexiObj.Update

ThisDocument. ActiveViewpori. ZoomCenter insPt, 20

1

Dim myBoc As InteliCAD.Document



Drm myPline As Polyline

Pim myPoinis As Points

Dim pt As Point

Set myDoc = ActiveDocument

Set myPoints = Library CreatePoints
Set pt = Library.CreatePoint(-0.08, 0)
myPoints. Add
myPoints(myPoints.Count}.x = pt.x
myPoints{myPoints.Count).y = pt.y
myPoints(myPoints.Count).z = pt.z
Set pt = Library.CreatePoint(-0.12, 0)
myPoints. Add
myPoints(myPuoints.Count).x = pt.x
myPoints(myPoints.Countl.y = pt.y
myPoints{myPoints.Count).z = pt.z
Set pt = Library.CreatePoint{-0.1, 0}
myPoints. Add
myPoints(myPoints.Count).x = pt.x
myPoints(myPoints.Count).y = pt.y

myPoints(myPeints. Count}.z = pt.z
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Set pt = Library.CreatePoint(-0.1, B}
myPoints.Add

myPoints(myPoints.Count).x = pt.x
myPoints{myPoints.Count).y = pt.y
myPoints(myPoints.Count}.z = pt.z

Set pt = Library.CreatePoins(-0.08, B)
myPoints.Add

myPoints(myPoints.Count).x = pt.x
myPoints{myPoints.Count).y = pt.y
myPoints{myPoints.Count).z = pt.z

Set pt = Library.CreatePoini(-0.12, B)
myPeints.Add

myPoints(myPoiats.Count).x = pt.x
myPoiits{myPoints.Count).y = pt.y
myPoints{myPoints. Count}.z = pt.z

Set myPline =

ThisDocument.ModelSpace. AddPolyline(myPoints}
myPline.Update
ThisDocument. Active Viewport. ZoomExtents
End Sub



3. 15N
Source Code PesignFooting.frm

Private Sub CommandButton!_Click()
DesignFooting.hide

Load Select_Structure
Select_Structure Show

End Sub

Private Sub CommandButton2_Click{)
DesignFooting.hide

Dim TCL As String

Dim TCB As String

H (DesignFooting. Spreadsheetl . Worksheets("sheet]1™}.
Cells(2, 4)) = "SR24" Then

TCL="RB"
TCB="RB"
Else
TCL="DB"
TCB="DB"
End If

‘create variable
B=
DesignFooting.Spreadsheet], Worksheets{"sheet1").Cells(7, 4}
FL=

DesignFooting. Spreadshectl. Worksheets("sheet1").Cells(8, 4)
H=
DesignFooting.Spreadsheet]. Worksheets("sheet1").Cells(9, 4}
Hsb=

DesignFooting.Spreadsheetl. Worksheets{"sheet!").Cells(11,
4

Bc=

DesignFooting. Spreadsheet] . Worksheets("sheet17).Cells(S, 4)
CL
=DesignFooting. Spreadshect 1. Worksheets("sheett™).Cells{é,
4)

Df=DesignFooting.Spreadsheet], Worksheets(“sheet1).Ceils{
13, 4)
Deep=

DesignFooting.Spreadsheet], Worksheets{"sheeti").Cells{13,
4)

n2=

DesignFooting Spreadsheet. Worksheets("sheett").Cells(21,
5}
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nl =

DesignFooting Spreadsheett. Worksheets{"sheet1").Celis{21,
)

o=

DesignFooting Spreadsheet ], Worksheets("sheet1").Cells(10,
4)

FootingB

=DesignFooting. Spreadsheetl. Worksheets("shect1").Celis{7,
4)

Foetingl. =

DesignFooting.Spreadsheet] Worksheets("sheet1").Cells(8, 4)
FootingH =

DesignFooting.Spreadsheetl. Worksheets("sheet1").Celis(9, 4)
Dleancon =

{DesignFooting.Spreadsheet] . Worksheets("sheet1").Cells(14,
4y} / 100

DPsand =

(DesignFooting.Spreadsheetl. Worksheets("sheet1").Cells{15,
40710

BDia =

DesignFooting.Spreadsheet]. Worksheets("sheet1").Cells(20,
4

BNum=

DesignFooting.Spreadsheet ] Worksheets("sheet1").Cells(21,
5)

Llia =

DesignFooting.Spreadsheet] Worksheets("sheet1").Cells{20,
5

longNum =

DesignFooting.Spreadsheet1. Worksheets("sheet1").Cells(2 1,
4)

NameF =

DesignFooting Spreadsheeti, Worksheets("sheet1").Celis(1, 4}

'long steel
Dim i As Double
Fori=1Tonl

Ifnl =1 Thea

Call AddSteel(B /2, ¢ +90.01)
Else

dxi=(B-c*2-002%nl)/{nl-1)



Call AddSteclc + (2 *i-1)*0.01 +{- 1) *dxl, ¢ +0.01)
End If
Nexti

wAnfaseul

If Hsb > ¢ And Hsb <> H Then

Call AddSteel(c+ 0.0F, Hsb+¢ - 0.01)
Call AddSteel(B - ¢ - 0.01, Hsh + ¢ - 0.01)
Elself Hsb =H Then

Hsb=H-(2*¢)

Call AddSteel{c +0.01, Hsb + ¢ - 0.01}
Call AddSteel(B - ¢ - 0.01, Hsb+¢ ’ 0.01)
Else:Hsb=0

End If

“waniasou
If Hsb = H Then
Hsb=H-{(2%¢)

Else: Hsb = Hsb

End if

If Hsb > G Then

Calt AddLine5(B, ¢, Hsh)
Cali AddTextVSteeB)
Else

End B

'topview steel 1

Bim j As Double

Fori=1To3

fnl =1 Then

Call AddSteefTop(B/2, ¢+ Df+0.75, B/ 2, FL+Df + 0.75 -
¢}

Else

dx1=(B-¢*2-002%*nl)/{nl-1)

Call AddSteelToplc +(2*j- B *0.01 +{- 1) *dxl,c +Df
+0.75,¢+(2%j-1)*00 +(- D *adx], FL+Df+ 075 -
¢}

End If

Next j

‘topview steel 2
m k As Double
Fork=1To3

Source Code Add_Sideview.bas

Sub Sideview(B, H, Df, Bc)

Dim myPoc As IntelliCAD Document
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Ifn2 =1Then

Call AddSteelTop{c, DIf+0.75 +(FL/2),B-¢, Df +0.75 +
(FL/2)

Else

dx2=(FL-¢*2-002*n2}/(n2-1)

Call AddSteelTop{c, (Df+0.75) +c+{2 *k-1) * Q.01 + (k-
D*dx2,B-c, (Df+075)+c+(2*k-1)* 001+ (k-1)*
dx2)

End If

Next k

'fine
Call AddLinel(B, ¢, Df}

Call AddLine2(B, Df, FL, ¢)

Call AddLine3(B, c)

Calt AddLined4(B, ¢)

Call AddLine6{B, Dleancon)

Call AddLine7(B, Dieancon, Dsand)

'fOC[iIls

Call Sideview(B, H, Df, Be)

Cait Add_SteelB(B, Hsb, ¢}

Call Topview(B, Df, FL)

Call AddLine(B, B, Df)

Call AddFootColumn(B, Be, FL, Df, CL)
Call AddSand(B, Dsand, Dleancon)

Calt AddLeanConcrete(B, Dleancon)

‘text
Call AddNameF(NameF, B)

Call AddTextbongSteel(TCL, B, H, longNum, LDia)

Cail AddTextBSteel(TCB, B, H, BNum, BDia)

Call AddTextLongSteelTop(TCL, B, Df, FL, loaghNum, LDja)
Call AddTextBSteel Top(TCB, B, Df, BNum, BDia, FL)

Call AddTextLongTop{Df, FL, FootingL)

Cail AddTextBTop(Df, B, FL, FootingB)

Call AddDimHigh(H, FootingH)

Call AddDimDI(H, FootingH, Df, Deep)

Call AddTextSand(B)

Call AddTextLeanCon{B)

End

End Sub

Dim myPline As Polyline

Dim myPoinis As Points



Dim pt As Point
Set myDoc = ActiveDocument

Set myPoints = Library.CreatePoints

Set pt = Library.CreatePoint(B /2 - Be / 2, DE, 0}

myPoints. Add
myPoints{myPoints. Count).x = pt.x
myPoints(myPoints.Count).y = pt.y

myPoints(myPoints.Count).z = pt.z

Set pt = Library.CreatePoint(B /2 - Be /2, 1, 0)

myPoints. Add
myPoints{myPoinis.Count).x = pt.x
myPoints(myPoints.Countl.y = pt.y
myPoints{myPoints.Count).z = pt.z
Set pt = Library.CreatePoint(0, H, 0}
myPoints. Add
myPoints(myPoints.Count).x = pt.x
myPoints(myPoints. Covnt).y = pt.y
myPoints{myPoints.Count}.z = pt.z
Set pt = Library.CreatePoint(0, 0, 0)
myPoints.Add
myPoints(myPoints.Count).x = pt.x
myPoints(myPoints.Count).y = pt.y
myPoints{myPeints. Count).z = pt.z
Set pt = Library.CreatePoint(B, §, 0}
myPoinis. Add
myPoints(myPoiats.Count).x = pt.x
myPoints{myPeints. Count).y = pty
myPoints{zyPoints.Count).z = pt.z
Set pt = Library.CreatePoint(B, H, 0)
myPoints.Add

myPoints(myPoints. Count).x = pt.x
myPoints{myPoinis.Count).y = pt.y

myPoints(myPoints. Count).z = ptz

Source Code Add_Topyiew bas

Sub Topview(B, Bf, FL)

Dim myDoc As InteiliCAD . Document
Dim myPline As Polyline

Dim myPoints As Points

Dim pt As Point

Set myDoc = ActiveDocument

Set myPoints = Library.CreatePoints

Set pt = Library.CreatePoint(0, Df + 0.75, C)

Set pt = Library.CreatePoint(B /2 + Be /2, H, 0}
myPoints.Add

myPoints{myPoints.Count}.x = pt.x
myPoints(myPoints.Count).y = pt.y
myPoints(myPoints.Count}.z = pt.z

Set pt = Library.CreatePoint(B / 2 + B / 2, Df, 0)
myPoints. Add

myPoints(myPoints.Count).x = pt.x
myPoints(myPoints.Count).y = pt.y
myPoints(myPoints.Count).z = pt.z

Set myPline =

‘ThisDocument.ModelSpace. AddPolyline{myPoints)
myPline.Update
ThisDocument. Active Viewport. ZoomExtents
End Sub

Sub AddLeanConcrete(B, Dieancon)

Dim myDoc As InteiiCAD.Document

Bim myLine As IntelliCAD.Line

Set myBDoc = Application. ActiveDocument

Set myLine =

myDoc ModelSpace. AddLine(L ibrary. CreatePoint(0, -

Dtleancon), Library CreatePoint(B, -Dlcancon))
myLine.Update

End Sub

Subh AddSand{B, Dsand, Dleancon)

Dim myDoc As IntelliCAD.Document

Dim myLine As IntelliCAD Line

Set myDoc = Application.ActiveDecument

Set myLine =
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myDoc ModelSpace. AddLine(Library.CreatePoint(0, -Dsand -

Dleancon), Library.CreatePoint(B, -Dsand - Dlearicon)}

myLine. Update
End Sub

myPoints.Add

myPoints(myPoints.Count).x = pt.x
myPoints(myPoints.Count).y = pt.y
myPoints{myPoints.Count).z = pt.z

Set pt = Library.CreatePoint(0, Df + FL + 0.75, 0)
myPoints. Add

myPoints{myPoints.Count).x = pt.x

myPoints(myPoints.Count).y = pt.y



myPoints(myPoints.Count).z = pt.z

Set pt = Library.CreatePoint(B, Df + FL + 0.75, ®)

myPoints. Add

myPoints{myPoints.Count).x = pt.x
myPoints(myPoints.Count).y = pt.y
myPoints(myPoints.Count).z = pt.z

Set pt = Library.CreatePoint(B, Df + 0.75, )
myPoints.Add

myPoints{myPoints.Couat).x = pt.x
myPoints{myPoints.Count).y = pt.y

myPoints{myPoints.Count).z = pt.z

Source Code Add_Steclbas

Sub AddSteel(x0, y0)

Dim icadDoc As InteliiCAD.Document
Bim icadCircle As InteliCAD Circle
Bim cenPt As IntelliCAD . Point

Set icadDoc = ActiveDocument

Source Code Add_Steel _B.bas

Sub Add_SteelB(B, Hsb, c)

Dim myDoc As InteliCAD.Document
Pim myPline As Polyline

Bim myPoints As Points

Dim pt As Point

Set myDoe = ActiveDocurmnent

Set myPoints = Library.CreatePoints
Set pt = Library CreatePoint(c, Hsb +¢, 0)
myPoints. Add

myPoints{myPoints. Count).x = pt.x
myPoints{myPoinis Count).y = pt.y
my Points(myPoints.Count).z = pt.z
Set pt = Library.CreatePoint(c, ¢, )
myPoints. Add
myPoirts(myPoints.Count).x = pt.x

myPoints(enyPoints.Count).y = pL.y

Source Code Add Pine.bas

Sub AddLine(B, Bc, Bf)

Dim myDoc As IntelliCAD Document
D¥im myPline As Polyline

Bim myPoints As Points

Dim pt As Point
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Set pt = Library CreatePoint(0, Df +0.75, 0
myPoints. Add

myPoints{myPoints.Count).x = pt.x
myPoints(myPoints.Count).y = pt.y
myPoints{myPoints.Count).z = pt.z

Set myPling =
ThisBocument.ModelSpace.AddPolyline(myPoints)
myPline.Update

ThisDocument. ActiveViewport.ZoomExtents

End Sub

Set cenPt = Library.CreatePoint(x0, y0)

Set icadCircle = icadDoc.ModelSpace. AddCircle{cenPt, 0.01)
icadCircle.Update
ThisDocument. Active Viewport.ZoomExtents

End Sub

myPoints(myPoints.Count).z = pt.z

Set pt = Library.CreatePoint(B - ¢, ¢, 0}
myPoints. Add

myPoints{myPoints.Count).x = pt.x
myPoints(myPoints.Count).y = pt.y
myPoints(myPoints.Count).z = pi.z

Set pt = Library.CreatePoini(B - ¢, Hsb + ¢, 0)
myPeints.Add

myPoints{myPoints.Count).x = pt.x
myPoints{myPoints.Count).y = pt.y
myPoints(myPoints.Count).z = pt.z

Set myPline =

ThisDocument.ModelSpace. AddPolyline(myPoints)
my¥Pline.Update
ThisDocument. Active Viewport. ZoemExtents

End Sub

Set myDoc = ActiveDocument

Set myPoints = Library.CreatePoints

Set pt = Library.CreatePoint({(B / 2) - ({(Bc/2) + 0.2), B, 0)
myPoints. Add

myPoints{myPoints.Count}.x = pt.x



myPoints{myPoints.Count).y = pt.y
myPoints(myPoints.Couat).z = pt.z

Set pt = Library CreatePoint({B / 2) - (B¢ / 8), Df, 0)
myPoints. Add

myPoints{zmyPoints.Count).x = pt.x
myPoints(myPoints.Count).y = pt.y
myPoints(myPoints.Count).z = pt.z

Set pt = Library.CreatePoint({B / 2) - {(Bc / 16), Df - 0.2, 0}
myPoints. Add

myPoints(myPoints.Count}).x = pt.x
myPoints(myPoints.Count).y = pt.y
myPoints{myPoints.Count).z = pt.z

Set pt = Library.CreatePoint((B 7 2) + (Be / 16}, Df + 0.2, 0)
myPoints. Add

myPoints(myPoints. Count}.x = pt.x

myPoints(myPoints.Count).y = pt.y

Sourge Code Tine.b:

Sub AddLinel(B, ¢, D{)

Dim myDoc As InteliCAD. Document

Pim myPline As Polyline

Dim myPoints As Points

Dim pt As Point

Set myDoc = ActiveDocument

Set myPoints = Library.CreatePoints

Set pt = Library.CreatePoint(c + 0.01, Df + ¢ +0.75+ 0.1, 0}
myPoints. Add

myPoints(myPoints.Count).x = pt.x

myPoints(myPoints. Count).y = pt.y
myPoints{myPoints.Count).z = pt.z

Set pt = Library.CreatePoint(3 * ¢, Df + ¢ + 0.75 + 0.1, 0}
myPoints. Add

myPoints{myPoints.Count) x = pt.x
myPoints(myPoints.Count).y = pt.y
myPoints{myPoints.Count).z = pt.z

Set pt = Library.CreatePoint(3 * ¢, Df + 0,525 + 0.04,0)
myPoints. Add

myPoints{myPoints.Count).x = pt.x
myPoints(myPoints.Couni).y = pt.y
myPoints{myPoints.Count).z = pt.z

Set pt = Library.CreatePoint{B / 2, Df + 0.525 + 0.01, ()
myPoints. Add

myPoints(myPoints.Count) x = pt.x
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myPoints{myPoints Count).z = pt.z

Set pt = Library.CreatePoint((B / 2) +(Bc / 8), Df, G}
myPoints. Add

myPoints(myPoints.Count).x = pt.x
myPoints(myPoints.Count).y = pt.y
myPoints{myPoints.Count).z = pt.z

Set pt = Library CreatePoint((B / 2} + (B¢ /2) +0.2), Df, 0)
myPoints. Add

myPoints(myPoints.Count).x = pt.x
myPoints(myPoeints.Count).y = pt.y
myPaints{myPoints.Count).z = pt.z

Set myPline =
ThisDocument. ModelSpace. AddPolyline{myPoins)
myPline. Update
ThisProcument. Active Viewport. ZoomExtents

End Sub

myPoints{myPoints.Count).y = pt.y
myPoints(myPoints.Count).z = pt.z

Set myPline =
ThisDocument ModelSpace. AddPolyline{myPoints)
myPiine Update

ThisDocument. ActiveViewport. ZoomExtents

End Sub

Sub AddLine2(B, Df, FL, ¢}

Dim myDoc As IntelliCAD . Document

Dim myPline As Polyline

Dim myPoints As Points

Dim pt As Point

Set myDoc = ActiveDocument

Set myPoints = Library.CreatePoints

Set pt = Library.CreatePoint(B + 0.48, Df + Q.75 + FL/2 +
0.025, 0}

myPoints. Add

myPoints{myPoints.Counf) x = pi.x
myPoints{myPoints.Count).y = pt.y
myPoints{myPoints.Count).z = pt.z

Set pt = Library.CreatePoint(3 * B /4, Df + 0.75 +FL /2 +
0.025, )

myPoints. Add

myPoints{myPoints.Count).x = pt.x

myPoints(myPoints. Count).y = pt.y



myPoints(myPoints.Count).z = pt.z

Set pt = Library CreatePoint(3 * B /4, Df + 0.75 + ¢ + 0.01,
0

myPoints.Add

myPoints(myPoints.Count).x = pt.x
myPaints(myPoints.Count).y = pt.y
myPoints{myPoinis.Count}.z = pt.z

Set myPline =
ThisDocument.ModelSpace.AddPolyline(myPoints)
myPline.Update
ThisDocument. Active Viewport. ZoomExtents

End Sub

Sub AddLine3(B, ¢}

Dim myDoc As InteliCAD. Document

Dim myPiine As Polyline

Dim myPoints As Points

Dim pt As Point

Set myDoc = ActiveDocument

Set myPoints = Library. CreatePoints

Set pt = Library.CreatePoint(B + 0.48, 0.25 + 0.023)
myPoints.Add

myPoints{myPoints.Count).x = pt.x
myPoints{myPoints. Count).y = pL.y
myPoints(myPoints.Count}.z = pt.z

Set pt = Library CreatePoint{((B + 0.48) + (B - ¢ - 0.01)}/ 2,
0.25+0.025)

myPoints. Add

myPoints(myPoints.Count).x = pt.x
myPoints{(myPoints.Count}.y = pt.y
myPoints(myPoints.Count).z = pt.z

Set pt = Library.CreatePoint(B - ¢ - 0.01, ¢ + 0.01,0)
myPoints. Add

myPoints{myPoints.Count}.x = pt.x
myPoints(myPoints.Count).y = pt.y
myPoints{myPoints.Count).z = pt.z

Set myPline =
ThisDocument. ModelSpace. AddPolyline(myPoints)
myPline.Update

ThisDocument. ActiveViewport.ZoomExtents

End Sub

Sub AddLined(B, ¢)

Dim myDoc As IntelliCAD Document

BPim myPline As Polyline
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Dim myPeints As Points

Dim pt As Point

Set myPoc = ActiveDocument

Set myPoints = Library.CreatePoints

Set pt = Library.CreatePoint(B + 0.48, 0.5 +0.025, 0)
myPoints.Add

myPoints{myPoints.Count).x = pt.x
myPoints{myPoints.Count}.y = pt.y
myPoints(myPoints.Count}.z = pt.z

Set pt = Library.CreatePoint{((B / 2 + Bc / 4) + (B + 0.48)) /
2,0.5+0.025,0)

myPoinis.Add

myPoints(myPoints.Count}.x = pt.x
myPoints(myPoints.Count).y = pLy
myPoints(myPoints.Count).z = pt.z

Set pt = Library.CreatePoint(B / 2 +Bc/ 4, ¢, 0)
myPoints. Add

myPoints(myPoints.Count) x = pt.x
myPoints(myPoints.Count).y = pt.y
myPoints{myPoints.Count).z = pt.z

Set myPline =
ThisPocument.ModelSpace.AddPolyline{myPoints)
myPline.Update
ThisDocument. Active Viewport. ZoomExtents

End Sub

Sub AddLine5(B, ¢, Hsb)

Dim myDoc As InteliCAD.Documenat

Dim myPline As Polyline

Dim myPoints As Points

Dim pt As Point

Set myDoc = ActiveDocument

Set myPeints = Library.CreatePoints

Set pt = Library.CreatePoint(B + 0.48, 0.75 + 0.025)
myPoints. Add

myPoints{myPoints.Count}.x = pt.x
myPoints(myPoints. Count).y = pt.y
myPoints(myPoints.Count).z = pt.z

Set pt = Library.CreatePoint(((B + 0.48) + (B -¢ - 0.01))/ 2,
0.75 +0.025)

myPoints. Add

myPoints{myPoints.Couat).x = pt.x
myPoints{myPoints.Count).y = pt.y

myPoints(myPoints.Count).z = pt.z



Set pt = Library.CreatePoint{B - ¢ - 0.01, ¢ - 0.01 + Hsb, 0)
myPoints.Add

rayPoints(myPoints.Count).x = pt.x
myPoints{myPoints.Count).y = pt.y
yPoints{myPoints.Count}.z = pt.z

Set myPline =
ThisDocument ModelSpace. AddPolyline{myPoints)
myPline. tpdate

ThisDocument. ActiveViewport. ZoomExicnts

End Sub

Sub AddLine6(B, Dleancon)

Dim myDoc As IntelliCAD. Document

Dim myLine As IntelliCAD Line

Set myDoc = Appiication. ActiveDocument

Source Code Add Topview steel.bas
Sub AddSteelTop(x1, yi, x2, y2)
Dim myDoc As InteliCAD.Document
Dim myLine As InteliCAD. Ling

Set myDoc = Application. ActiveDocument

Source Code Add Text Steel? lean_sand.bas

Sub AddTextVSteel{B)

Dim icadDoc As InteliiCAD.Document

Diim myText As String

Dim méextObj As IntelHCAD Text

Dim insPt As IntelliCAD.Point

Dim height As Double

Set tcadDoc = ActiveDocument

Set insPt = Library.CreatePoint(B + 0.5, 0.75)

height = 0.05

myText = "MANTAIDU " &

DesignFooting. Spreadsheet ], Worksheets{"sheet1").Cells(12,
4

Set mtextOhj = icadDoc.ModelSpace. Add Text{myText, insPt,
height)

mtexiObj. Update

ThisDocument. ActiveViewport. ZoomCenter insPt, 20

fnd Sub

Sub AddTextLeanCon(B)
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Set myLine =

myDoc.ModelSpace. AddLine(Library CreatePoint(B - 0.05, -
{Dleancon) / 2), Library.CreatePoin{B + 0.48, 0 + (.025))
myLine Update

End Sub

Sub AddLine7(B, Dleancon, Dsand)

Dim myDoc As IntelliCAD.Document

Dim myLine As InteliCAD.Line

Set myDoc = Application. ActiveDocument

Set myLine =

myDoc.ModelSpace. AddLine(Library CreatePoint(B - 0.05, -
(Dleancon + (Dsand / 2))), Library.CreatePoint(B + (.48, -
0.25 + 0.025))

myLine. Update

End Sub

SetmyLine =

myDoc.ModelSpace. AddLine{Library.CreatePoint(x1, v1),
Library.CreatePoint(x2, y2))

myLine.Update

ThisDocument. ActiveViewport. ZoomExtents

End Sub

Dim icadBoc As InielliCAD. Document

Dim myText As String

Dim miextObj As IntelliCAD. Text

Dim insPt As InteliCAD. Point

Din height As Double

Set icadDoc = ActiveDocument

Set insPt = Library CreatePoint(B + 0.5, 0)

height = 0.05

myText="ABUNTANIN &

DesignFooting Spreadsheet] . Worksheeis{"sheetl").Cells{14,
4y & " em.”

Set mtextOb; = icadDoc.ModelSpace. AddText(myText, insPt,
height)

mitextObj.Update
ThisDocument. Active Viewport. ZoomCenter insPt, 20

End Sub

Sub AddTextSand{R)

Dim icadDoc As IntelliCAD.Document



Dim myTFext As String

Dim mtextObj As InteliCAD . Text

Bim insPt As IntelliCAD.Point

Dim height As Double

Set icadDoc = ActiveDocument

Set insPt = Library.CreatePoint(B + 0.5, -0.25)
height = 0.05

Source Code Add Tex el ooting.bas
Sub AddNameF(NameF, B)

Dim icadDoc As InteliCAD Document
Dim myText As String

Pim mtextObj As IateliCAD. Text

Dim insPt As IntelliCAD Point

Dim height As Double

Set icadDoc = ActiveDocument

Sct insPt = Library.CreatePoint(B / 2, -0.5)

Source Code Add_Text IongSteet Top.bas

Sub AddTextLongSteeiTep(TCL, B, Df, FL, longNuin, LDia)
Dim icadDoc As IntelliCAD Docusnent

Dim myText As String

Dim miextObj As InteliCAD . Text

Dim insPt As IntelliCAD . Point

Bim height As Double

Set icadDoc = ActiveBocument

Set insPt = Library.CreatePoint(B / 2 +0.02, Df + 0.5)

Source Code Add_Text IongSteelbas

Sub AddTexiLongSteel(FCL, B, H, longNum, LiXa)
Bim icadDoc As IntelliCAD . Document

Dim myText As String

Dim mtextObj As IntelliCAD. Text

Dim insPt As InteliCAD Point

Dim height As Double

Set icadDoc = ActiveDocument

Set insPt = Library.CreatePoint(B -+ 0.5, 0.25)

Source Code Add_Text Long Tophbas
Sub AddTextLongTop(Df, FL, FootingL.)
Dim icadDoc As InteliCAD . Document

Dim myText As String
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myText = "niwdiuszdy” &

DesignFooting. Spreadsheet] Worksheets("sheet1").Celis(15,
4 & em”

Set mtextObj = icadDoc.ModelSpace AddText(myText, insPt,
height}

mtextObj.Update

ThisDocument. ActiveViewport. ZoomCenter insPt, 20

End Sub

height = 0.1

myText = NameF

Set mtextObj = icadDoc.ModelSpace. AddText{myText, insPt,
height)

mtextObj. Update

ThisDocument. ActiveViewport. ZoomCenter insPt, 20

End Sub

height = 0.05

myText= AR " & longNum & TCL & " " & LDia
Set miextObj = icadDoc. ModelSpace. AddText{myText, insPt,
height)

mtextObi. Update

ThisDocument. ActiveViewport. ZoomCenter insPt, 20

End Sub

height = 0.05

myTFext = HANAME " & longNum & TCL & " " & LDHa
Set mtextObj = icadDoc. ModelSpace. AddText{myText, insPt,
height)

mtextObj.Update
ThisDocument. Active Viewport. ZoomCenier insPt, 20

End Sub

Dim mtextObj As IntelliCAD Fext
Dim insPt As IntelliCAD.Point

Dim height As Double



Set icadDoc = ActiveDocument

Set insPt = Library.CreatePoint{-0.5, Df + 0.75 + {FL/2))
height = 0.05

myText = Footingl & " m."

Set mtextObj = icadDoc.ModelSpace. AddText(myText, insPt,
height)

mtextObj.Update
ThisDocument. Active Viewport. ZoomCenter insPi, 20
Dim myDoc As InteliCAD.Docoment

Dim myPline As Polyline

Brim myPoints As Points

Dim pt As Point

Set myDoc = ActiveDocument

Set myPoints = Library.CreatePoints

Set pt = Library.CreatePoint(-0.12 - 0.1, Df+ 0.75)
myPoints. Add

myPoints{myPoints Count}.x = pt.x
myPoints(myPoints Count).y = pt.y
rayPoints(myPoints Count).z = pt.z

Set pt = Library.CreatePoint(-0.08 - 0.1, Bf + 0.73)
myPoints.Add

myPoints{myPoints Count).x = pt.x
myPoints(myPoints Count).y = pt.y

myPoiats(myPoints.Count).z = pt.z

Seurce Code Add_Text BSteel Top.bas

Sub AddTextBSteelTop{TCB, B, Df, BNum, BDia, FL)
Dim icadDoc As InteliCAD.Docurnent

Dim myText As String

Dim mtextOhj As IntelliCAD Text

Dim insPt As IntelliCAD. Point

Din: keight As Double

Set icadDoc = ActiveDocument

SetinsPt = Library.CreatePoint(B + 0.5, Df + 0.75 + FL./ 2)

Source Code Add_Text BSteel bas

Sub AddTextBSteel{TCB, B, H, BNum, BDia)
Dim icadDoc As InteliCAD. Document

Dim myText As String

Dim miextObj As IntelHCAD. Text

Dim insPt As IntelliCAD Point

Dim height As Double
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Set pt = Library CreatePoint(-0.1 - 0.1, Df + 0.75)
myPeints. Add

myPoints{myPoints.Count).x = pt.x
myPoints(myPoints.Count).y = pt.y
myPoints(myPoints.Count).z = pt.z

Set pt = Library.CreatePoint(-0.1 - 0.1, Df + 0.75 + FL)
myPoints.Add

myPoints{myPoints.Count).x = pt.x
myPeints(myPoints.Count).y = pt.y
myPoints(myPoints Count) .z = pt.z

Set pt = Library.CreatePoint(-0.08 - 0.1, Df + 0.75 + FL)
myPoints. Add

myPoints{myPoints.Countl.x = pt.x
myPoints{myPoints.Count).y = pt.y
myPoints(myPoints Count).z = pt.z

Set pt = Library.CreatePoint(-0.12 - 0.1, Df + 0.75 + FL)
myPoints.Add

myPoints(myPoints.Countl.x = pt.x
myPoints{myPoints.Count).y = pt.y
myPoinis(myPoints. Count).z = pt.z

Set myPline =
ThisDocument. ModelSpace. AddPolyline(inyPoints)
myPline.Update

ThisDocument. ActiveViewport.ZoomExtents

End Sub

height = .05

myText = "MANATUYIN " & BNum & TCB & " * & BDia
Set mtextObj = icadDoc ModelSpace. AddText{myText, insPt,
height)

miextObj.Update

ThisDocument.ActiveViewport. ZoomCenter insPt, 20

End Sub

Set icadDoc = ActiveDocument

Set insPt = Library.CreatePoint(B + 0.5, 0.5)

height = .03

myText = "iﬂﬁﬂﬂTﬁ‘H'&N " & BNum & TCB & " “ & BDia
Set mtextObj = icadDoc. ModelSpace. AddText(myText, insPt,
height}



textObj. Update

ThisDocument. ActiveViewport. ZoomCenter insPt, 20

Source Code Add Text B_Top.bas

Sub AddTextBTep(Df, B, FL, FootingB}

Dim icadDoc As IntelliCAD . Document

Dim myText As String

Dim mtextObj As IntelliCAD. Text

Dim insPt As IntelliCAD.Point

Dim height As Double

-Set icadDoc = ActiveDocumesnt

Set insPt = Library CreatePoint(B / 2, Df + 0.75 + FL + 0.25)
height = .05

myText = FootingB & " m."

Set mtextObj = icadDoc. ModelSpace. AddText{reyTexs, insPt,
height)

mtexiObj.Update

ThisDocument. ActiveViewport. ZoomCenter insPt, 20

Dim myDoc As InteliCAD. Bocument

Dim myPline As Polyline

Dim myPoints As Points

Dim pt As Point

Set myDoc = ActiveDocument

Set myPoints = Library.CreatePoinis

Set pt = Library.CreatePoint(0, Df + 0.75 + FL + 0.08 + 0.1}
myPoints. Add

myPoints{myPoints.Count).x = pt.x

myPoints{myPoints. Count).y = pt.y
myPoints(myPoints.Count).z = pt.z

Set pt = Library.CreatePoint{0, Df + 0.75 + FL + 0.12 + 0.1}

myPoints. Add

Source Code Add_Footing_Column.bas

Sub AddFooiColumn(B, Be, FL, Df, CL)

Dim myDoc As IntelliCAD. Document

Dim myPline As Polyline

Dim myPoints As Points

Pim pt As Point

Set myBPoc = ActiveDocument

Set myPoints = Library.CreatePoints

Set pt = Library CreatePoint{(B / 2) - (B¢ /2), Df + (FL/2) -
{CL/2)+0.750)
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End Sub

myPoints(myPoints.Count).x = pt.x

myPoints{myPoints. Count).y = pt.y
myPoints(myPoints.Count).z = pt.z

Set pt = Library.CreatePoint{0, Df + 0.75_ +FL+40.1+0.1)
myPoints. Add

myPoints{myPeints.Count).x = pt.x
myPoints(myPoints.Count}.y = pt.y
myPoints(myPoints.Count).z = pl.z

Set pt = Library.CreatePoint(B, Df +0.75 + FL+ 0.1 + 0.1)
myPoints.Add

myPoiats(myPoints Count).x = pt.x
myPoints{myPoints.Couat).y = pt.y
myPoints{myPoints.Count}.z = pt.z

Set pt = Library.CreatePoint(B, Df + 0.75 + FL + 0.12 + 0.1)
myPoints. Add

myPoints{myPoints.Count}.x = pt.x
myPoints(myPoints.Count).y = pt.y
myPoints(myPoints.Count).z = pt.z

Set pt = Library.CreatePoing(B, Df +0.75 + FL + 0.08 + 0.1)
myPoints. Add

myPoints(myPoints.Count).x = pt.x
myPoints(myPoints.Count).y = pt.y
myPoints(myPoints.Count).z = pt.z

Set myPline =

ThisDocument.ModelSpace. AddPolyline{myPoints)
myPline. Update

ThisDocument. ActiveViewport. ZoomExtents

End Sub

myPoinis. Add

myPoints{myPoints.Count).x = pt.x
myPoints(myPoints.Count}.y = pt.y
myPoints{myPoinis.Count).z = pt.z

Set pt = Library.CreatePoint((B / 2} + {Bc / 2), Df + (FL./ 2) -
(CL/2)+0.75,0)

myPoiats. Add

myPoints(myPoints. Count).x = pt.x

myPoints{myPoints.Count).y = pt.y



myPoeints(myPoints.Count).z = pt.z

Set pt = Library.CreatePoint((B / 2) + (Bc /2), Df + (FL/2) +
(CL/2)+075,0)

myPoints.Add

myPoints{myPoints.Count).x = pt.x
myPoints(myPoints.Count}.y = pt.y
myPoints(myPoints.Count).z = pt.z

Set pt = Library CreatePoint((B / 2) - (Be /2), Df + (FL./ 2) +
(CL/2}+0.75,0

myPoints.Add

myPoints(myPoints.Count).x = pt.x

myPoints{(myPoints.Count).y = pt.y

Source Code Add_Dim_Footing.bas

Sub AddDimDH, FootingH, Df, Deep)

Dim icadDoe As InteliCATY.Document

Dim myText As String

Dim mtextObj As IntelliCAD. Text

Dim insPt As IntelHCAD . Point

Dim height As Double

Set icadDoc = ActiveDocument

Set insPt = Library.CreatePoint(<0.5, H + (Df - H}/ 2)
height = 0.03

myText = (Decp - FootingH)} & " m."

Set mtextObj = icadDec.ModelSpace. Add Text(myText, insPt,
height)

mitextObj. Update

ThisDrocument. ActiveViewport. ZoomCenter insPt, 20

[

Bim myDoc As InteliCAD. Document
Dim myPline As Polyline

Iim myPoints As Points

Dim: pt As Point

Set myDoc = ActiveDocument

Set myPoints = Library.CreatePoints

Set pt = Library.CreatePoint{-(.12 - 0.1, H)
myPoints. Add
myPoints{myPoints.Count).x = pt.x
myPoints{myPoints.Count).y = pt.y
myPoints(myPoints.Count}.z = pt.z

Set pt = Library.CreatePoint{-0.08 - 0.1, H)
myPoints. Add

myPoints(myPoints.Count).x = pt.x
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myPoints{myPoints.Count}.z = pt.z

Set pt = Library.CreatcPoint{(B / 2) - (Bc / 2), Pf +{FL /2) -
(CL/2)+0.75,0)

myPoints. Add

myPoints(myPoints.Count).x = pt.x
myPoints{myPoints.Count}).y = pt.y
myPoints(myPoints.Count}.z = pt.z

Set myPline =

ThisDocument.ModelSpace. AddPolyline{myPoiats)
miyPline. Update

ThisDocument. ActiveViewport. ZoomExtents

End Sub

myPoints(myPoints Count).y = pt.y
myPoints{myPoints.Count).z = pt.z

Set pt = Library.CreatePoint(-0.1 - 0.1, H}
myPoints. Add

myPoints(myPoints.Count).x = ptx
myPoints(myPoints. Count).y = pt.y
myPoints{myPoints.Count).z = pt.z

Set pt = Library.CreatePoint(-0.1 - 0.1, Df)
nmiyPoints. Add

myPoints(myPoints.Count).x = ptx
myPoints{myPoints.Count).y = pt.y
myPoints{myPoints.Count).z = pt.z

Set pt = Library.CreatePoint(-0.08 - 0.1, Df}
myPoins.Add
myPoints(myPeints.Count).x = pt.x
myPoints(myPoints.Count).y = pt.y
myPoints(myPoints.Count).z =pt.z

Set pt = Library.CreatcPoint(-0.12 - 0.1, Df)
myPoinis. Add

myPoints{myPoints. Count}.x = pt.x
myPoints(myPoints.Count).y = pt.y
myPoints(myPoints.Count).z = pt.z

Set myPine =
ThisDocument. ModelSpace. AddPolyline{myPoinis)
myPline.Update
ThisDocument. Active Viewport. ZoomExtents
End Sub

Sub AddDimHigh(H, FootingH)

Dim icadDoc As IntelliCAD.Document



Dim myText As String

Dim mtextObi As IntelliCAD . Text

Dim insPt As InteliiCAD.Point

Dim height As Double

Set icadDoc = ActiveDocument

Set insPt = Library.CreatePoint(-0.5, H / 2}
height =0.05

myText = FootingH & " m."

Set mtextObj = icadDoc.ModelSpace. AddText{myText, insPs,
height)

mtextObj.Update

ThisDocument. ActiveViewport. ZoomCenter insPt, 20

1

Pim myBPoc As InteliCAD . Document
Dim myPline As Polyline

Dim myPoints As Points

Dim pt As Point

Set myDoc = ActiveDocument

Set myPoints = Library.CreatePoints

Set pt = Library.CreatePoint(-0.12 - 0.1, 0}
myPoints. Add

myPoints(myPoints. Count).x = pt.x
myPoints{myPoints. Count).y = pt.y
myPoints{myPoints Count).z = pt.z

Set pt = Library.CreatePoint(-0.0% - 0.1, 0}
myPoints.Add
myPoints(myPoints.Count).x = pt.x
myPoints{my¥Points.Count).y = pt.y
myPoinis{myPoints.Count).z = pt.z

Set pt = Library.CreatePoini(-0.1 - 0.1, 0)
myPoints.Add
myPoints(myPoinis.Count).x = pt.x
myPoints(myPoints.Count).y = pt.y
myPoints{myPoints.Count).z = pi.z

Set pt = Library.CreatePoint(-0.1 - 0.1, H)
myPoints. Add
myPoints{myPoints.Count).x = pt.x
myPoints(myPoints.Count).y = pt.y
myPoints{myPoints.Count}.z = pt.z

Set pt = Library.CreatePoint(-0.08 - 0.1, H)
myPoints. Add
myPoints{myPoints.Count).x = pt.x

myPoints(myPoints.Count).y = pt.y

myPoints{myPoints.Count).z = pt.z

Set pt = Library.CreatePoint(-0.12 - 0.1, H)
myPoints. Add

myPoints{myPoinis.Count).x = pt.x
myPoints(myPoints.Count).y = pt.y
myPoints(myPoints.Count).z = pt.z

Set myPline =

ThisDocument. ModelSpace. AddPolyiine(myPoints)
myPline Update
ThisDocument. Active Viewport. ZocomExtents
End Sub
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